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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
SOCIAL STUDIES-Civics

Opponents of these laws, permitted under Taft-Hartley, argue that they depress wages and create potential free riders on collective bargaining agreements. Proponents argue that no one should be forced to join a union. Twenty-two states have passed what type of law that prohibits a ‘union shop,’ a workplace where workers must join a union? 


ANSWER: right-to-work laws

TOSSUP 2
MATH-Arithmetic

Named after a 17th century French mathematician, a computer project known as GIMPS is looking for them.  Perfect numbers are tied to their existence, and examples of them include 8191, 3, 7, 31, and 127.  Name this type of number which is a prime number that is one less than a power of two.

ANSWER: Mersenne prime

TOSSUP 3
LITERATURE-Philosophy

This term comes to us from a Greek word meaning “circle of animals.” The Hindu one is similar to our own due to contact between them and the Greeks. What is the belt in the heavens, 9 degrees wide on either side of the ecliptic, or sun’s apparent path, which has meaning for astrology, since it contains the 12 astrological signs? 

ANSWER: zodiac
TOSSUP 4
MISCELLANEOUS-Current events

In early 2007, cities in this region such as Khan Yunis and Rafah were devastated by fighting between rival militias. After defeating Fatah, Hamas assumed control in June, and Fatah then kicked Hamas out of the West Bank. What area of 139 square miles is located to the southwest of Israel? 


ANSWER: Gaza Strip

TOSSUP 5
SCIENCE-Chemistry

Also discovered by Karl Braun, it is named after the French chemist that discovered it.  It is used to manipulate the outcomes of reversible reactions.  Name this principle that states that if an external stress is applied to a system at equilibrium, then the system will adjust itself to partially counteract the stress as a new equilibrium is reached.

ANSWER: Le Chatelier’s principle

TOSSUP 6
LITERATURE-World literature

In this novel, a dead pilot is mistakenly thought to be the Beast, who had first been seen by a nameless boy with a birthmark. Most of the story focuses on the power struggle between Jack and Ralph, with Simon and Piggy being killed by Jack’s group. A British ship rescues the boys from a deserted island at the end of what William Golding novel? 


ANSWER: Lord of the Flies
TOSSUP 7
MATH-Geometry

THIS IS A COMPUTATION QUESTION. What is the surface area of a cube with side length 13 meters, remembering that the surface area of a cube is equal to the square of the side length times six?

ANSWER: 1014 square meters
TOSSUP 8
SOCIAL STUDIES-World history

It was successful at resolving the War of the Stray Dog and the Åland (OH-lend) crisis. Its last major act was expelling the Soviet Union for invading Finland, but it did nothing about the Mukden Incident or the invasion of Abyssinia. What organization, founded after the Treaty of Versailles, was the predecessor of the United Nations? 


ANSWER: League of Nations
TOSSUP 9
LANGUAGE ARTS-Vocabulary

This word, especially with the word heavy, was used in the 1950s to refer to fondling and caressing. It comes from a Scottish word meaning ‘tame animal.’ It can refer to someone’s favorite, especially with a teacher. It refers to stroking, as with an animal. What word refers to an animal kept for companionship, especially a dog or a cat?


ANSWER: pet

TOSSUP 10
SCIENCE-Biology

It is also known as the celiac and is located behind the stomach and in front of the crura of the diaphragm. It is formed by the greater and lesser splanchnic nerves and parts of the right vagus nerve. Getting hit here results in getting the wind knocked out of you. Name this network of nerves located in the abdomen.

ANSWER: solar plexus
TOSSUP 11
MATH-Algebra

THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix whose top row is 7 and 5 and whose bottom row is 4 and 6?

ANSWER: 22
TOSSUP 12
SOCIAL STUDIES-US history

In 1971, President Nixon commuted his 1964 bribery conviction, provided he not engage in union activities for 10 years. He had lunch at the Machus Red Fox restaurant in Bloomfield Township, Michigan, on July 30, 1975. He got into a car, and was never seen again. Who was this head of the Teamsters?


ANSWER: James Riddle ‘Jimmy’ Hoffa
TOSSUP 13
SCIENCE-Biology

It consists of about fifty species of the genus Myosotis.  It can be annual or perennial, and many species are found in New Zealand.  It is the state flower of Alaska.  Name this flower that is usually small, five-petalled, and blue, and serves as the symbol of the Alzheimer Society of Canada.

ANSWER: forget-me-not
TOSSUP 14
LITERATURE-US literature

Most of the short stories involving this character were published in a single volume in 1972. He dated a girl named Majorie, and broke up with her in ‘The End of Something.’ By ‘Wedding Day’ and ‘Fathers and Sons,’ he had gotten married and started a family. Who is this young man that comes of age in several short stories by Ernest Hemingway?


ANSWER: Nick Adams (prompt on partial answer)

TOSSUP 15
FINE ARTS-Sculpture

The ‘hardstone’ variety of this art form uses agate, and during the Renaissance, artists began using conch and mussel shells. Today, most of them are made with an ultrasonic carver. They often portray a woman’s head in profile, and are often used in jewelry. What method of carving creates a raised image atop a different colored background?


ANSWER: cameo
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
FINE ARTS-20th century music

His last studio session was the album Interstellar Space. Albums such as Sun Ship and Om reflected his later avant-garde musical direction. He played with Dizzy Gillespie, Miles Davis, and Thelonious Monk before going solo. He is regarded as a saint by the African Orthodox Church. What jazz saxophonist died of liver cancer in 1967?


ANSWER: John Coltrane
BONUS 16
LITERATURE-US literature

Name the following works by Thornton Wilder from descriptions.

A.
The stage manager narrates this play that is performed without a set.

ANSWER: Our Town

B.
The Antrobus family is at the center of this Pulitzer-winning play written in 1942.

ANSWER: The Skin of Our Teeth

C.
In this 1927 novel, several people die when the titular object collapses in Peru.

ANSWER: The Bridge of San Luis Rey

D.
This epistolary novel by Wilder, written in 1948, explores the events leading up to the assassination of Caesar.

ANSWER: Ides of March

TOSSUP 17
SCIENCE-Chemistry 

For xenon, it is 290 Kelvin; for bromine, 584 Kelvin; for chlorine, 417 Kelvin; for oxygen, 154.6 Kelvin; for nitrogen, 126 Kelvin; and for water, 647 Kelvin.  A gas will not liquefy above it.  Name this term for the temperature above which distinct liquid and gas phases do not exist.

ANSWER: critical temperature

BONUS 17
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION:  Consider the numbers 40 and 85.  Now:

A.
 Find the sum of their additive inverses.


ANSWER:  -125
B.
Find the prime factorization of each.


ANSWER:  2x2x2x5 or 23x5  and  17x5
C.
Find the sum of their multiplicative inverses.


ANSWER:  125/3400  or  5/136
D.
Express the sum of 40 and 85 as a base 8 number.


ANSWER:  175
TOSSUP 18
SOCIAL STUDIES-Geography

This region’s lowest point is the Qattara (KAH-tah-rah) Depression. Major cities include Tamanrasset and Nouakchott. The Canary Current helps reduce the amount of precipitation it receives. Its ancient residents called it the ‘red land,’ while more modern residents call it the ‘great desert.’ Northern Africa is dominated by what desert? 


ANSWER: Sahara Desert

BONUS 18
MISCELLANEOUS-Classic pop culture

Identify these old-school rappers.

A.
What rap trio performed a cover version of ‘Walk This Way’ with Steven Tyler and Joe Perry of Aerosmith? 

ANSWER: Run DMC
B.
Robert van Winkle was the real name of what rapper, who in 1998 re-mixed his signature hit and released it as ‘Too Cold?’ 

ANSWER: Vanilla Ice
C.
What band, fronted by Deborah Harry, introduced a form of rap to the public in their song, ‘Rapture?’

ANSWER: Blondie
D.
What singer’s ‘Rock Me Amadeus’ hit #6 on the R&B charts and contained several rapped verses in the German version? 

ANSWER: Falco
TOSSUP 19
LITERATURE-World literature

This collection’s poem, ‘The Welsh Marches,’ is a reference to the fact that the English county in its title borders Wales. It contains lines such as ‘Mithridates, he died old’ and ‘The time you won your town the race’ in the poems ‘Terence, this is stupid stuff’ and ‘To an Athlete Dying Young.’ What is this poetry collection by A.E. Housman? 


ANSWER: A Shropshire Lad
BONUS 19
SCIENCE-Biology

It is described as the "powerhouse" of the cell.

A.
Name this organelle bounded by a double membrane.

ANSWER:
mitochondrion or mitochondria
B.
Many of the reactions in mitochondria take place along these folds of the inner mitochondrial membrane.

ANSWER:
cristae [KRIS-tee]

C.
Since bacteria lack mitochondria, they can only harness the ATP produced in this 10-step process that precedes aerobic respiration.

ANSWER:
glycolysis [gly-KAH-luh-sis] [accept word forms]

D.
During aerobic respiration, electrons are transferred to NAD and FAD. This molecule is the final acceptor of those electrons in the electron transport chain.

ANSWER:
oxygen or O2 

TOSSUP 20
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the remainder when 876 is divided by 9?

ANSWER: three
BONUS 20
SOCIAL STUDIES-US history

Identify these World War II generals and admirals.

A.
Who was relieved of command after slapping a soldier? 

ANSWER: George Patton
B.
Despite never seeing combat, he was the first general promoted to the rank of General of the Army. 

ANSWER: George Marshall
C.
What Commander in Chief of Pacific Naval Forces is the namesake to a class of nuclear-powered aircraft carriers? 

ANSWER: Chester Nimitz
D.
This graduate of Moberly High School commanded the U.S. First Army and was known as the ‘G.I.’s General.’

ANSWER: Omar Bradley
TOSSUP 21
MISCELLANEOUS-Miscellaneous

A vertical one of these is used to cook gyro (YEE-roh) meat, while the Peruvian pollo a la brasa (POH-yoh ah lah BRAH-sah) uses a horizontal one. What type of meat preparation involves skewering the meat on a spit and rotating it over a flame? 


ANSWER: rotisserie

BONUS 21
LITERATURE-World literature

Answer the following questions about titular characters in world literature.

A.
Give the actual name of the Hunchback of Notre Dame.

ANSWER: Quasimodo

B.
Give the actual name of the Mayor of Casterbridge

ANSWER: Michael Henchard

C.
The first name of the title character in “Madame Bovary.”

ANSWER: Emma

D.
The first name of the title character in “Doctor Zhivago.”

ANSWER: Yuri

TOSSUP 22
SCIENCE-Famous scientists 

He was elected to the Royal Society for discovering how baby cuckoos pushed other eggs and chicks out of the nest. His landmark discovery occurred when he took pus from a milkmaid and used it to prevent a worse disease. Who used cowpox to develop a vaccine for smallpox? 


ANSWER: Edward Jenner
BONUS 22
MATH-Algebra

Answer the following about the properties of the real number system:

A.
What property is illustrated by:  132 equals 132?


ANSWER:  reflexive property

B.
What property is illustrated by:  x plus y equals y plus x?


ANSWER:  commutative property for addition

C.
What are the identity elements for addition and multiplication?


ANSWER:  0 for addition and 1 for multiplication

D.
Name the basic operations for which the set of integers is closed.


ANSWER:  addition, subtraction, and multiplication
TOSSUP 23
SOCIAL STUDIES-US history

He designed the Pontiac GTO but left General Motors in 1973. He started his own business with a factory in Northern Ireland that made sports cars. His business went bankrupt and he was tried for cocaine distribution. Whose company made the DMC-12? 


ANSWER: John De Lorean
BONUS 23
LANGUAGE ARTS-Vocabulary

Identify these words.

A.
What word describes a non-woven fabric made by heat and pressure, or is the past tense of a verb that means to examine something by touching?


ANSWER: felt
B.
What word describes a yellow-brown color or someone that is in very good shape?


ANSWER: buff

C.
What word describes either a massive Roman victory celebration or a significant success?


ANSWER: triumph

D.
What word describes the police force of London or the enclosed area next to a house?


ANSWER: yard
TOSSUP 24
LITERATURE-US literature

Her real name was Lulamae Barnes, and she got married at age 14 to a man named Doc. She got an extra $100 a week for delivering messages to imprisoned mobster Sally Tomato. She asked Mr. Yunioshi to let her in her apartment at odd hours of the night. Who is this main character from Breakfast at Tiffany’s? 


ANSWER: Holly Golightly

BONUS 24
SCIENCE-Physics

THIS IS A COMPUTATION QUESTION. Consider an ideal pendulum, at sea level, with a length of L meters, and bearing mass of x kilograms that is displaced through an angle of 2 degrees. The period of the pendulum is 3 seconds. Rounded to the nearest half-second, what will the new period be if . . .

A. 
The length of the pendulum is quadrupled?

ANSWER: 6 seconds

B. 
The mass of the pendulum is quadrupled?

ANSWER: 3 seconds

C. 
The angle of the pendulum is increased to 4 degrees?

ANSWER: 3 seconds

D. 
Finally, the motion of the pendulum is an example of what type of motion, known by a three-word name, that in an ideal system exhibits sinusoidal behavior?

ANSWER: simple harmonic motion [prompt on “SHM”]

TOSSUP 25
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Solve for x and y.  6x plus 2y equals –28 and 4x minus 2y equals –2, which when solving for x, simplifies into 10x equals –30.

ANSWER: x equals –3 and y equals -5 (can be said in either order)

BONUS 25
SOCIAL STUDIES-World history

It’s a family thing. Given a country and the first and last names, identify the family being described.

A.
Haiti was ruled by Papa Doc and Baby Doc.



ANSWER: Duvalier
B.
Nicaragua was ruled by Anastacio, Luis, and another Anastacio.


ANSWER: Somoza
C.
India was ruled by Indira, Rajiv, and Sonia. 


ANSWER: Gandhi
D.
Syria was ruled by Hafez and Bashar.


ANSWER: al-Assad
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the median of 73, 21, 42, 58, 36, 12, and 86?

ANSWER: 42
TOSSUP 27
SOCIAL STUDIES-World history

In World War I, German soldiers from this region were sent to the navy or to the east to fight Russians. It became an independent republic for two weeks in November 1918, until French troops occupied Strasbourg, its largest city. Nazi Germany annexed it in 1940, and it returned to France in 1945. What region did Prussia conquer from France in 1871? 


ANSWER: Alsace-Lorraine 

TOSSUP 28
LANGUAGE ARTS-Foreign language

This Indo-European language is closely related to Assamese. Words borrowed from Sanskrit can have consonant clusters, and unlike in Hindi, verbs do not need to be conjugated for gender. What language is spoken by around 230 million people around the city of Calcutta and in a nation formerly known as East Pakistan? 

ANSWER: Bengali

TOSSUP 29
MATH-Geometry

THIS IS A COMPUTATION QUESTION. What degree angle has a supplement that is 4 times as large as its complement?

ANSWER: 60 degrees
TOSSUP 30
LITERATURE-Religion

Martin Luther encouraged them to escape if they had their job forced upon them. In Roman Catholicism, those in training go through a postulancy and novitiate before becoming one full-time. One method of ordination is the Black Veil ceremony. What women take a solemn vow to undergo a religious life? 


ANSWER: nun(s) (prompt on ‘sisters’)

TOSSUP 31
SCIENCE-Physics

When using light, it produces light and dark bands caused by interference; when using electrons, it may or may not produce an interference pattern, depending on the detectors used. What experiment pioneered by Akira Tonomura’s Hitachi team that involves particles or waves passing through two holes.

ANSWER: double-slit experiment

TOSSUP 32
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the remainder when 15,567 is divided by 6, given that 12,000, 3,000, and 540 are all evenly divisible by 6?

ANSWER: three
TOSSUP 33
LITERATURE-World literature

This poem’s narrator states, ‘I gave commands, / Then all smiles stopped altogether,’ about his now-deceased wife. Fra Pandolf painted his former wife, the title character. Its narrator was probably Alfonso II, the Duke of Ferrara. What is this poem by Robert Browning? 


ANSWER: “My Last Dutchess”

TOSSUP 34
SCIENCE-Earth science

An area of this is the instability strip, which runs diagonally near its top and contains most Cepheids. Most of the points on it are along a line called the main sequence. Giants, such as Betelgeuse and Rigel, are contained at its top. What diagram usually has two axes, one for spectral type and the other for absolute magnitude? 


ANSWER: Hertzsprung-Russell diagram or H-R diagram (accept color-magnitude diagram before said in the question)

TOSSUP 35
SOCIAL STUDIES-US history

He is on the back of the $2 bill between John Adams and Robert Livingston. He was a member of the Committee of Five that drafted the Declaration of Independence. Who combined the Virginia and New Jersey Plans to offer the Great Compromise to the Constitutional Convention? 


ANSWER: Roger Sherman
TOSSUP 36
LITERATURE-US literature

This family was kept together by the mother, Marmee. Although one daughter died, the other three daughters married John Brooke, Laurie Laurence, and Professor Fritz Bhaer. Beth, Amy, Meg, and Jo were the daughters of what family that Louisa May Alcott wrote about in Jo’s Boys, Little Men, and Little Women? 


ANSWER: the March family

TOSSUP 37
SCIENCE-Biology

This ergoline derivative was first synthesized in 1938 by Dr. Albert Hofmann.  Its chemical formula is C20H25N3O and its threshold dosage is very small at only twenty to thirty micrograms.  Timothy Leary advocated the use of what psychedelic drug known as acid?

ANSWER: LSD or lysergic acid diethylamide
TOSSUP 38
MISCELLANEOUS-Classic pop culture

In the upcoming eleventh film, Simon Pegg will portray him. He started a fight when his ship was insulted in ‘The Trouble with Tribbles.’ He served on board the Excelsior and on a captured Bird of Prey, remarking that reading Klingon was harder than damage control. James Doohan played what head of engineering in the original Star Trek? 


ANSWER: Lieutenant Commander Montgomery Scott (accept Scotty)

TOSSUP 39
SOCIAL STUDIES-Geography

It contains the Lyell Glacier and the Mariposa Grove of giant sequoias. Its El Capitan cliff is a popular destination for rock climbing. It shares a name with the highest waterfall in North America. It also contains Ribbon Falls and Bridalveil Fall. John Muir helped establish it as a National Park in 1906. What is this national park in the Sierra Nevada? 


ANSWER: Yosemite National Park

TOSSUP 40
FINE ARTS-Classic cinema

This film’s characters include industrialist Abner Dillon, director Julian Marsh, and understudy Peggy Sawyer. Its plot revolves around Dot Brock and the musical she is starring in, Pretty Lady. It contains the songs ‘Shuffle Off to Buffalo’ and ‘You’re Getting to Be a Habit with Me.’ What is this musical named for a Manhattan street? 


ANSWER: 42nd Street
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Factor x squared minus 23x minus 330.

ANSWER: (x plus 10)(x minus 33) (can be said in either order)

BONUS 41
FINE ARTS-Classical music

Identify these famous musical collcections.

A.
This suite’s seven movements include ‘Mars, the Bringer of War.’


ANSWER: The Planets
B.
These violin concertos begin with ‘La primavera’ and end with ‘L’invierno.’


ANSWER: The Seasons
C.
‘In the Hall of the Mountain King’ is part of what suite written by Edvard Grieg? 


ANSWER: Peer Gynt
D.
‘The Catacombs’ and ‘The Hut of Baba Yaga’ are part of what suite by Modest (MOH-dest) Mussorgsky? 


ANSWER: Pictures at an Exhibition – A Remembrance of Viktor Hartmann
TOSSUP 42
SOCIAL STUDIES-Civics

It is the name of the estimate delivered to prospective home buyers laying out the bank’s honest estimate of closing costs. When the word ‘utmost’ goes before it, it means all parties to a contact must mention any material facts known to them. What term is the translation of the Latin words, bona fides (boh-nah fee-days)? 


ANSWER: good faith or bona fides
BONUS 42
MATH-Geometry

THIS IS A COMPUTATION QUESTION:  Consider right triangle ABC inscribed in a circle with center P.  AC is the diameter of the circle and the hypotenuse of the triangle. The other two legs both equal 7 square root of 2 inches.  Now:

A.
Find the radius of the circle?


ANSWER:  7”
B.  
Find the area of the triangle.


ANSWER:  49 in2
C.  
How long is a segment drawn from P to the midpoint of AB?


ANSWER:  3.5 square root of 2 inches

D.  
Using 22/7 as your value of pi, find the difference in the areas of the circle and the triangle.  


ANSWER:  105 in2
TOSSUP 43
LITERATURE-World literature

Its first two parts were directed at men, and included advice such as ‘How to Find Her,’ ‘Give Her Tasteful Little Gifts,’ and ‘Aphrodisiacs.’ The third part included advice to women such as ‘Try Young and Older Lovers.’ It was written eight years before its author’s exile to Tomis on the Black Sea. What is this love manual by Ovid? 


ANSWER: The Art of Love or Ars Amatoria
BONUS 43
SCIENCE-Geology

Answer these questions about the Mohs scale of hardness:

A.
What was the highest value assigned by the original version of the scale?

ANSWER:
10
B.
On that original scale, between which two whole numbers does the human fingernail lie?

ANSWER:
2 and 3
C.
What mineral was assigned a 9 on that scale?

ANSWER:
corundum
D.
The Mohs scale is based on the ability of a mineral to do what to a mineral with a lower number?

ANSWER:
scratch it [accept word forms]

TOSSUP 44
LANGUAGE ARTS-Vocabulary

This word refers to a French computer company founded in 1931. It refers to the most senior ensign on a Navy ship or a solemn decree from the Pope. While Moses was on Mount Sinai, the Israelites worshiped a golden one of these. What word refers to a rising stock market, an unlikely statement, or to a large male animal, such as a bovine? 


ANSWER: bull

BONUS 44
LITERATURE-US literature

Name these works by Willa Cather from descriptions.

A.
The Bergsons, immigrants from Sweden, settle in Nebraska in this 1913 novel.

ANSWER: O Pioneers!

B.
Thea Kronberg moves to the big city to become an opera star in this 1915 work.

ANSWER: The Song of the Lark

C.
Jim Burden narrates this novel, and tells of his love for the title character, the eldest daughter of Bohemian immigrants.

ANSWER: My Antonia

D.
Attempts to establish a diocese in the territory of New Mexico are at the center of this 1927 Cather novel.

ANSWER: Death Comes for the Archbishop

TOSSUP 45
MATH-Computer science

The PC in this error does not stand for personal computer but Paper Cassette. The other two words describe what to do and what size of paper to use. Name this error message displayed on HP LaserJet printers letting the user know it is out of 11x8.5 inch paper.

ANSWER: PC Load Letter 

BONUS 45
MISCELLANEOUS-Current events

October 2nd 2006 was the date of one of the more disturbing school shootings in recent memory. Answer the following about the events of that day.

A. 
This 32 year old man took his life as well as 5 girls lives on this date.


ANSWER: Charles Carl Roberts

B. 
The school was located in this village of Pennsylvania


ANSWER: Bart Township
C. 
The school was a religious school of this faith.


ANSWER: Amish

D. 
Charles Roberts made a living as this.


ANSWER: Milk Man
TOSSUP 46
LITERATURE-US literature

He tells his secretary Effie that he’s ‘a detective.’ He is having an affair with the wife of his former partner, Miles Archer. He deals with Wilmer Cook, Joel Cairo, Brigid O’Shaughessy, and Casper Gutman as he tries to obtain a bejeweled bird. What detective, created by Dashiell Hammett, appears in The Maltese Falcon? 


ANSWER: Sam Spade
BONUS 46
SOCIAL STUDIES-Geography

Given the population rank among the entire United States, according to the 2000 census, name the United States city. We will also provide the state. 

A.  
4th, Texas

ANSWER: Houston

B. 
6th, Pennsylvania
ANSWER: Philadelphia
C. 
7th, Texas

ANSWER: San Antonio
D. 
10th, California 
ANSWER: San Jose
TOSSUP 47
SCIENCE-Chemistry

THIS IS A COMPUTATION QUESTION. What is the molecular mass of carbon monoxide?


ANSWER: 28
BONUS 47
LITERATURE-World literature

Name these characters from “Alice’s Adventures in Wonderland.”

A.
This character is first seen smoking a hookah.

ANSWER: Caterpillar

B.
“Why is a raven like a writing desk?” is a riddle with no answer posed by this character at the tea party.

ANSWER: The Mad Hatter

C.
At some times, only this character’s smile is visible.

ANSWER: Cheshire Cat

D.
This representation of a chess piece is involved in a race that involves Alice running but going nowhere.

ANSWER: Red Queen

TOSSUP 48
SOCIAL STUDIES-World history

It passed the Self-Denying Ordinance and abolished the Star Chamber. Thomas Pride purged its membership, creating a ‘Rump’ of members loyal to Oliver Cromwell. It had originally been called nine years before that by Charles I. What was this session of Parliament?  

ANSWER: the Long Parliament
BONUS 48
SCIENCE-Chemistry

Name these types of reactions:

A.
Any reaction in which a molecule is broken down into smaller molecules

ANSWER:
decomposition [accept word forms for all parts]

B.
A reaction that releases heat

ANSWER:
exothermic
C.
A reaction with a negative change in Gibbs free energy

ANSWER:
spontaneous or exergonic [accept favorable]

D.
A normally unfavorable reaction that is driven forward by the addition of an electric current

ANSWER:
electrolysis
TOSSUP 49
MISCELLANEOUS-Pop culture

This band’s original members included Rob Gardner, Ole Beich, and Tracii Guns. Its upcoming album, Chinese Democracy, might be released on a day ending in ‘y.’ Former members from the classic era include Izzy Stradlin and Slash. Early albums include Axl Rose is the frontman for what band? 

ANSWER: Guns N’ Roses
BONUS 49
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION:  Consider the fractions; A equals 3/5,  B equals 3/8, and C equals 19/50.  Now:

A.
How much larger is A than C?


ANSWER:  11/50
B.
Find the sum of B and C but give the answer as a percentage.


ANSWER:  75.5%
C.
Find A times B and then divide that by C.


ANSWER:  45/76
D.
Find A divided by the quantity B times C.


ANSWER:  80/19  or  4 4/19
TOSSUP 50
SCIENCE-Biology

Illegal types of this insect include wondering violin, spiny flower, ghost, and Egyptian.  They feed on other insects and most of them practice sexual cannibalism.  Name this insect named for its stance, as if it were in worship. 

ANSWER: praying mantis
BONUS 50
SOCIAL STUDIES-US history

Identify these act that provoked the American Revolution.

A.
This 1773 law actually lowered prices for American consumers, as it exempted the British East India Company from customs duties. 


ANSWER: Tea Act

B.
This 1765 law was the reason we have a Third Amendment to the Constitution.


ANSWER: Quartering Act

C.
Colonization west of the Appalachians was forbidden by what decree of King George III?


ANSWER: Proclamation of 1763
D.
This Act was actually passed in 1660, but not enforced until the years before the Revolution. It forced all goods shipped to the colonies to be shipped on English ships. 


ANSWER: Navigation Act

END OF MATCH

Spare questions
TOSSUP 51
LITERATURE-World literature

He reveals to his father-in-law, Alexandre, that his true last name is Evrémonde. In a treason trial against the French Republic, he is convicted by the testimony of Defarge. What husband of Lucie Manette was replaced on the guillotine by Sydney Carton at the end of A Tale of Two Cities? 


ANSWER: Charles Darnay
BONUS 51
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION:  Consider the following shopping spree:

A.
Hannah bought a skirt originally priced at $40 but on sale for 15% off.  What is her cost?


ANSWER:  $34
B.
Raul purchased a pair of gloves and paid $19.20 after receiving a 20% discount.  What was the original price of the gloves?


ANSWER:  $24
C.
Adam bought 2 shirts originally selling for $20 each and 2 ties originally at $15 each.  The shirts were two for the price of one and the ties were one-third off.  How much did he save after the discounts?


ANSWER:  $30
D.
Thomas bought 4 of the same $20 shirts and 8 of the $15 ties.  What was the total discount on his entire purchase?  Give as a percentage.


ANSWER:  40%

TOSSUP 52
SCIENCE-Astronomy

England did not adopt it until 1752 and Russia did not until 1918, as many Protestant and Orthodox believers thought it was some sort of Catholic plot. When a country adopted it, it had to skip ten days in order to correct the accumulated error of the past millennium. What replacement to the Julian calendar is the calendar we use today? 


ANSWER: Gregorian calendar

BONUS 52
FINE ARTS-Visual

Name these Vincent van Gogh works.

A.
Five peasants are chowing down on the titular tuber. 


ANSWER: The Potato Eaters
B.
The titular doctor has a foxglove plant and is leaning on his right arm. It sold for a then-record $75 million in 1990 but has since disappeared.


ANSWER: Portrait of Dr. Gachet
C.
This painting must not be confused with a similarly-titled painting ‘over the Rhone.’


ANSWER: The Starry Night
D.
The Getty Museum owns this painting of blue flowers.


ANSWER: Irises

TOSSUP 53
MISCELLANEOUS-Classic pop culture

This group’s last Top 40 hits were ‘Indestructible’ and ‘When She Was My Girl.’ Their founders were Duke Fakir, Lawrence Peyton, Obie Benson, and Levi Stubbs. They had two number one hits, ‘I Can’t Help Myself’ and ‘Reach Out I’ll Be There.’ What Motown group is often confused with The Temptations? 


ANSWER: The Four Tops
BONUS 53
LANGUAGE ARTS-Grammar

Consider the sentence: ‘My money is going to pay for your college tuition.’ Now:

A.
What noun is the subject of the sentence?


ANSWER: My money 

B.
What tense is the verb in that sentence?


ANSWER: present progressive (DO NOT prompt or accept on present)

C.
Counting determiners as adjectives, how many adjectives are in that sentence?


ANSWER: three (my, your, college)

D.
In what voice is the verb in this sentence? 


ANSWER: active
TOSSUP 54
FINE ARTS-Sculpture

This statue was originally meant to portray Dante as part of a larger project, The Gates of Hell. What statue by Auguste Rodin (roh-DAN) portrays a man sitting on a rock, his chin on his hand, engaging in deep meditation? 


ANSWER: The Thinker
BONUS 54
MISCELLANEOUS-Pop culture

Answer the following about Guitar Hero

A. This is the subtitle to the 3rd installment of the Guitar Hero Series


ANSWER: Legends of Rock

B. This company developed the first two Guitar Hero’s.


ANSWER: Harmonix Music Systems

C. This publisher of Guitar hero was purchased in late 2006 by Activision.


ANSWER: RedOctane

D. This game developed by Harmonix and published by MTV combines Vocal, Guitar, Bass and Drums into a 4 player experience.


ANSWER: Rock Band
TOSSUP 55
SOCIAL STUDIES-World history

His father Orestes placed him on the throne after the overthrow of Julius Nepos. He was never recognized as Emperor by his Eastern counterpart, Zeno. Odoacer forced his abdication on September 4, 476 AD. Who was the last Emperor of the Western Roman Empire? 


ANSWER: Romulus Augustus or Romulus Augustulus
BONUS 55
LITERATURE-Religion

Identify these Bible translations from acronyms and the year when a complete Bible was published.

A.
NIV, 1978.

ANSWER: New International Version
B.
KJV, 1611.

ANSWER: King James Version


C.
RSV, 1952.

ANSWER: Revised Standard Version
D.
JB, 1966.

ANSWER: Jerusalem Bible
TOSSUP 56
LANGUAGE ARTS-Grammar

Write down the following sentence. (Quizmaster: speak slowly) I, myself, will re-do the work you failed to do, but do not claim my work as yours. (Quizmaster: speak normally) How many pronouns were in that sentence?

ANSWER: four (I, myself, you, yours)

BONUS 56
SOCIAL STUDIES-Civics

Given a state, name how many electoral votes it has, within one. So, since Virginia has 13 electoral votes, you can give an answer of 12, 13, or 14 and be correct.

A.
Missouri.

ANSWER: 10, 11, or 12
B.
California.

ANSWER: 54, 55, or 56
C.
Arkansas.

ANSWER: 5, 6, or 7
D.
New York.

ANSWER: 30, 31, or 32
TOSSUP 57
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Convert the base 8 number 234 into a binary number.

ANSWER: 10011100 (one-zero-zero-one-one-one-zero-zero)

BONUS 57
SCIENCE-Biology

Name these digestive organs:

A.
In humans, most absorption of nutrients takes place in this organ.

ANSWER:
small intestine or small bowel [prompt on partial answers]

B.
Cows and sheep are among the animals that regurgitate cud from this first stomach in the digestive tract.

ANSWER:
rumen [ROO-min]

C.
Some birds, including vultures, have this muscular pouch near their throats that can store food.

ANSWER:
crop
D.
Like birds, some reptiles possess this structure for grinding food. Birds sometimes swallow stones to make it more effective.

ANSWER:
gizzard or ventriculus or gastric mill
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